

ENTIRE FUNCTIONS THAT SHARE RATIONAL FUNCTIONS WITH THEIR DERIVATIVES¹

Ang Chen², Guowei Zhang³

Abstract. In this paper, we use the idea of normal family to deal with the uniqueness problems of entire functions that share a rational function with its derivative and get a uniqueness theorem. The conclusions in this paper can be used to improve several known results. Some examples are provided to show that the results presented in this paper are possible.

AMS Mathematics Subject Classification (2010): 30D35, 30D45

Key words and phrases: Nevanlinna theory; rational functions; value sharing; uniqueness; normal family

1. Introduction and main results

In this article, by meromorphic functions we shall always mean the meromorphic functions in the complex plane. We are going to mainly use the basic notation of Nevanlinna Theory (see [7], [18], [19]), such as $T(r, f)$, $N(r, f)$, $m(r, f)$, $\bar{N}(r, f)$ and $S(r, f) = o(T(r, f))$, as $r \rightarrow \infty$, possibly outside a set of finite measure. Let f and g denote two non-constant meromorphic functions, and let R be a rational function. If $f - R$ and $g - R$ have the same zeros with the same multiplicities (ignoring multiplicities), then we say that f and g share R CM (IM), and denote it by $f = R \rightleftharpoons g = R$ ($f = R \Leftrightarrow g = R$). In this paper, we also need the following two definitions.

Definition 1.1. Let f be a non-constant entire function, the order of f , denoted $\sigma(f)$, being defined by

$$\sigma(f) = \limsup_{r \rightarrow \infty} \frac{\log T(r, f)}{\log r} = \limsup_{r \rightarrow \infty} \frac{\log \log M(r, f)}{\log r},$$

where, and in the sequel, $M(r, f) = \max_{|z|=r} \{|f(z)|\}$.

Definition 1.2. Let f be a nonconstant meromorphic function, the hyper order of f , denoted $\sigma_2(f)$, is defined by

$$\sigma_2(f) = \limsup_{r \rightarrow \infty} \frac{\log \log T(r, f)}{\log r}.$$

¹The authors are supported by the NNSF of China (No.10371065); the NSF of Shandong Province, China. (No. Z2002A01) and the NSFC-RFBR.

²National Education Examinations Authority, Beijing 100084, P. R. China, e-mail: ang.chen.jr@gmail.com

³Department of Mathematics, Anyang normal University, Anyang 455000, Henan Province, P. R. China, e-mail: zhirobo@gmail.com

In 1977, Rubel and Yang [15] proved the well-known theorem.

Theorem A. *Let a and b be two complex numbers such that $b \neq a$, and let f be a nonconstant entire function. If f and f' share values a and b CM, then $f \equiv f'$.*

This result has undergone various extensions and improvements. Mues and Steinmetz [12] proved the following theorem.

Theorem B. *Let a and b be two complex numbers such that $b \neq a$, and let f be a non-constant entire function. If f and f' share values a and b IM, then $f \equiv f'$.*

Ang Chen, et al [2] got the following theorem, in which the second relationship between f and f' is $f = R_2 \Rightarrow f' = R_2$, here for the definition of R_2 see Theorem C.

Theorem C. *Let $R_1 = P_1(z)e^{Q(z)}$, $R_2 = P_2(z)e^{Q(z)}$, where $Q(z)$ is a polynomial and $P_1(z), P_2(z)$ are rational functions, be two functions and $R_2 (\neq R_1, 0)$. Let f be a nonconstant meromorphic function with finitely many poles. If $f = R_1 \Leftrightarrow f' = R_1$, $f = R_2 \Rightarrow f' = R_2$. If f, R_1 have no common poles and the order of R_1 is less than the order of f , then one of the following cases must occur:*

(1) $f \equiv f'$.

(2) $f = R_2 + Ce^{\lambda z}$ and $(\lambda - 1)R_1 = \lambda R_2 - R_2'$, where C, λ are two nonzero constants. In fact, R_1, R_2 are two polynomials.

On the other hand, there were also many improvements of Theorem B by assuming the second relationship between f and f' is $f' = R_2 \Rightarrow f = R_2$, here R_2 can be a constant(see Theorem D), or be a polynomial(see Theorem F). In 2006, Li and Yi [9] gave an example to show the condition that f and f' have two shared values in Theorems B is necessary. They also thought about whether the condition can be changed to some extent and gave an affirmative answer as follows.

Theorem D. *Let a and b be two complex numbers such that $b \neq a, 0$, and let f be a non-constant entire function. If $f = a \Leftrightarrow f' = a$ and $f' = b \Rightarrow f = b$, then $f \equiv f'$.*

Remark 1.1. In the same paper, authors [9] gave an example to show that $b \neq 0$ cannot be omitted in Theorem D.

In 2007, Li and Yi [10] proved the following result.

Theorem E. *Let f be a non-constant entire function of hyper-order $\sigma_2(f) < \frac{1}{2}$ and let Q be a non-constant polynomial. If $f = Q \Leftrightarrow f' = Q$, then*

$$\frac{f' - Q}{f - Q} \equiv c$$

for some constant $c \neq 0$.

In 2009, Qi, Lü and Chen [14] improved Theorem D and got the following result.

Theorem F. Let $Q_1(z) = a_1 z^p + a_{1,p-1} z^{p-1} + \cdots + a_{1,0}$ and $Q_2(z) = a_2 z^p + a_{2,p-1} z^{p-1} + \cdots + a_{2,0}$ be two polynomials such that $\deg Q_1 = \deg Q_2 = p$ (where p is a non-negative integer) and $a_1, a_2 (a_2 \neq 0)$ are two distinct complex numbers. Let f be a transcendental entire function. If $f = Q_1 \Rightarrow f' = Q_1$ and $f' = Q_2 \Rightarrow f = Q_2$, then $f \equiv f'$.

Naturally, we ask what will happen if the polynomials Q_1, Q_2 are replaced by the rational functions R_1, R_2 ? In this paper, we consider the above question and use the idea of normal families to obtain a uniqueness theorem.

We set $R(z) = P_1(z)/P_2(z)$, where P_1, P_2 are relatively prime polynomials. In this paper, deviating from the usual definition of the degree of a rational function, $\deg(P_1) - \deg(P_2)$ is called the degree of $R(z)$ and denoted by $\deg(R)$.

Theorem 1.1. Let $R_1(z)$ and $R_2(z)$ be two non-zero rational functions such that $\lim_{z \rightarrow \infty} \frac{R_2(z)}{R_1(z)} \neq 1$ and $\deg(R_1) = \deg(R_2)$, and let f be a transcendental entire function. If $f = R_1 \Rightarrow f' = R_1$ and $f' = R_2 \Rightarrow f = R_2$, then one of the following cases must occur:

- (i) $f \equiv f'$;
- (ii) $f' = R_2 + C\lambda e^{\lambda z}$ and $(\lambda - 1)R_1' = \lambda R_2 - R_2'$, where $C, \lambda \neq 1$ are two non-zero constants. In fact, R_1, R_2 are two polynomials.

Remark 1.2. The following shows the hypothesis that f is transcendental cannot be omitted in Theorem 1.1.

Example 1. Let $f(z) = z^4$, $R_1(z) = 2z^4 - 4z^3$ and $R_2(z) = z^4$. Then

$$\frac{f'(z) - R_1(z)}{f(z) - R_1(z)} = 2 \quad \text{and} \quad f'(z) = R_2(z) \Rightarrow f(z) = R_2(z).$$

Whereas it does not satisfy the result of Theorem 1.1.

Remark 1.3. We add an example to point out that the case (ii) in Theorem 1.1 cannot be deleted.

Example 2. Let $f = 2e^{\frac{z}{2}} + \frac{1}{2}z^2$, $R_1 = 2z - \frac{1}{2}z^2$ and $R_2 = z$. Then

$$\frac{f' - R_1}{f - R_1} = \frac{1}{2} \quad \text{and} \quad f' \neq R_2.$$

Thus, it satisfies the assumption of Theorem 1.1.

Remark 1.4. Obviously, when R_1, R_2 can be two polynomials defined as in Theorem F, it is easy to see Theorem 1.1 improves Theorem F and Theorem D.

In order to prove Theorem 1.1, we need the following result which is of independent interest.

Theorem 1.2. *Let $R_1(z)$ and $R_2(z)$ be two non-zero rational functions such that $\lim_{z \rightarrow \infty} \frac{R_2(z)}{R_1(z)} \neq 1$ and $\deg(R_1) = \deg(R_2)$, and let f be a non-constant entire function. If $f = R_1 \Rightarrow f' = R_1$ and $f' = R_2 \Rightarrow f = R_2$, then f is of order at most one.*

2. Some Lemmas

In order to prove our theorems, we need the following lemmas. Let h be a meromorphic function in \mathbb{C} . h is called a normal function if there exists a positive M such that $h^\sharp(z) \leq M$ for all $z \in \mathbb{C}$, where

$$h^\sharp(z) = \frac{|h'(z)|}{1 + |h(z)|^2}$$

denotes the spherical derivative of h .

Let \mathcal{F} be a family of meromorphic functions in a domain $D \subset \mathbb{C}$. We say that \mathcal{F} is normal in D if every sequence $\{f_n\}_n \subseteq \mathcal{F}$ contains a subsequence which converges spherically and uniformly on the compact subsets of D , see [16]. Normal families, in particular, of entire functions often appear in operator theory on spaces of analytic functions, for instance, see, Lemma 3 in [8] and Lemma 4 in [17].

The following lemma is the famous Marty's criterion.

Lemma 2.1. [16] *A family \mathcal{F} of meromorphic functions on a domain D is normal if and only if for each compact subset $K \subseteq D$, there exists a constant M such that $f^\sharp(z) \leq M$ for each $f \in \mathcal{F}$ and $z \in K$.*

The well-known Zalcman's lemma is a very important tool in the study of normal families. It has also undergone various extensions and improvements. The following is one up-to-date local version, which is due to Pang and Zalcman [13](cf. [3], [4], [20], [21]).

Lemma 2.2. *Let \mathcal{F} be a family of analytic functions in the unit disc Δ with the property that for each $f \in \mathcal{F}$, all zeros of f have multiplicity at least k . Suppose that there exists a number $A \geq 1$ such that $|f^{(k)}(z)| \leq A$ whenever $f \in \mathcal{F}$ and $f(z) = 0$. If \mathcal{F} is not normal in Δ , then for $0 \leq \alpha \leq k$, there exists*

1. a number $r \in (0, 1)$;
2. a sequence of complex numbers z_n , $|z_n| < r$;
3. a sequence of functions $f_n \in \mathcal{F}$;
4. a sequence of positive numbers $\rho_n \rightarrow 0$,

such that $g_n(\zeta) = \rho_n^{-\alpha} f_n(z_n + \rho_n \zeta)$ converges locally uniformly (with respect to the spherical metric) to a non-constant entire function $g(\zeta)$ on \mathbb{C} . Moreover, the zeros of $g(\zeta)$ are of multiplicities at least k , $g^\sharp(\zeta) \leq g^\sharp(0) = kA + 1$.

The next result is due to Clunie and Hayman [5].

Lemma 2.3. *A normal meromorphic function has order at most two. A normal holomorphic function is of exponential type, and thus has order at most one.*

Lemma 2.4. [11] *Let $R(z) (\neq 0)$ and $H(z) (\neq 0)$ be two rational functions; let $Q(z)$ be a polynomial; and let $F(z)$ be a transcendental meromorphic function with finite order. If $F(z)$ is a solution of the following differential equation*

$$(2.1) \quad F'(z) - R(z)e^{Q(z)}F(z) = H(z),$$

then $Q(z)$ is a constant. In particular, if $R(z) = \frac{1}{P(z)}$, where $P(z)$ is a polynomial, then $R(z)$ is also a constant.

Lemma 2.5. [1] *Let f be a meromorphic function on \mathbb{C} with finitely many poles. If f has bounded spherical derivative on \mathbb{C} , then f is of order at most one.*

Lemma 2.6. [7], [19] *Let $f(z)$ be a meromorphic function, and let $a_1(z), a_2(z), a_3(z)$ be three distinct meromorphic functions satisfying $T(r, a_i) = S(r, f)$, ($i = 1, 2, 3$). Then*

$$T(r, f) \leq \overline{N}\left(r, \frac{1}{f - a_1}\right) + \overline{N}\left(r, \frac{1}{f - a_2}\right) + \overline{N}\left(r, \frac{1}{f - a_3}\right) + S(r, f).$$

3. Proof of Theorem 1.2

We assume $R_1 = \frac{Q_1}{Q_2}$, $R_2 = \frac{Q_3}{Q_4}$, here $Q_i (i = 1, 2, 3, 4)$ are polynomials. Let $P_1 = Q_1Q_4$, $P_2 = Q_2Q_3$.

Since $R_1 \neq 0$ and $\deg(R_1) = \deg(R_2)$, it is easy to see $\deg(P_1) = \deg(P_2)$. Now we consider the function $F = \frac{f}{R_1} - 1$. In the following, we will distinguish two cases for discussion.

Case 1. F has a bounded spherical derivative.

Then by Lemma 2.5, F is of order at most one. Hence $f = (F + 1)R_1$ is of order at most one as well. Thus, the conclusion of Theorem 1.2 is revealed.

Case 2. F has unbounded spherical derivative.

Then there exists a sequence $(w_n)_n$ such that $\lim_{n \rightarrow \infty} F^\#(w_n) = \infty$. Since $F^\#$ is continuous, hence bounded in every compact set, we have $w_n \rightarrow \infty$ as $n \rightarrow \infty$.

Since R_1 is a rational function, there exists an r_1 such that for all $z \in \mathbb{C}$ satisfying $|z| \geq r_1$, we have

$$(3.1) \quad 0 \leftarrow \left| \frac{R_1'(z)}{R_1(z)} \right| \leq \frac{M_1}{|z|} < 1, \quad R_1(z) \neq 0.$$

Let $r > r_1$, and $D = \{z : |z| \geq r\}$, then F is analytic in D . Without loss of generality, we may assume $|w_n| \geq r + 1$ for all n . We define $D_1 = \{z : |z| < 1\}$ and

$$(3.2) \quad F_n(z) = F(w_n + z) = \frac{f(w_n + z)}{R_1(w_n + z)} - 1.$$

From (3.2), if $F(w_n + z) = 0$, thus $f(w_n + z) = R_1(w_n + z)$. Noting that $f = R_1 \Rightarrow f' = R_1$, then by (3.1), we obtain the following: if $F_n(z) = 0$ and n is large enough, then

$$(3.3) \quad |F_n'| = \left| \left(\frac{f(w_n + z)}{R_1(w_n + z)} \right)' \right| \leq \left| \frac{f'(w_n + z)}{R_1(w_n + z)} \right| + \left| \frac{f(w_n + z)}{R_1(w_n + z)} \right| \left| \frac{R_1'(w_n + z)}{R_1(w_n + z)} \right| \leq 2.$$

Obviously, $F_n(z)$ are analytic in D_1 and $F_n^\#(0) = F^\#(w_n) \rightarrow \infty$ as $n \rightarrow \infty$. It follows from Marty's criterion that $(F_n)_n$ is not normal at $z = 0$. In the following we will obtain a contradiction by proving that $(F_n)_n$ is normal at $z = 0$.

In view of (3.3), we can apply Lemma 2.2 with ($\alpha = k = 1$ and $A = 2$). Choosing an appropriate subsequence of $(F_n)_n$ if necessary, we may assume that there exist sequences $(z_n)_n$ and $(\rho_n)_n$ such that $z_n \rightarrow 0$ and $\rho_n \rightarrow 0$, and that the sequence $(g_n)_n$ defined by

$$(3.4) \quad g_n(\zeta) = \rho_n^{-1} F_n(z_n + \rho_n \zeta) = \rho_n^{-1} \left\{ \frac{f(w_n + z_n + \rho_n \zeta)}{R_1(w_n + z_n + \rho_n \zeta)} - 1 \right\} \rightarrow g(\zeta)$$

converges locally and uniformly in \mathbb{C} , where $g(\zeta)$ is a nonconstant entire function and $g^\#(\zeta) \leq g^\#(0) = 3$. By Lemma 2.3, the order of $g(\zeta)$ is at most 1.

Firstly, we claim that

$$g = 0 \Rightarrow g' = 1.$$

Set $G_n(\zeta) = \frac{f'(w_n + z_n + \rho_n \zeta)}{R_1'(w_n + z_n + \rho_n \zeta)}$, then from (3.4) and $\frac{R'(w_n + z_n + \rho_n \zeta)}{R(w_n + z_n + \rho_n \zeta)} \rightarrow 0$, we get

$$(3.5) \quad G_n(\zeta) = \frac{f'(w_n + z_n + \rho_n \zeta)}{R_1'(w_n + z_n + \rho_n \zeta)} = g_n'(\zeta) + \frac{(\rho_n g_n(\zeta) + 1)R_1'(w_n + z_n + \rho_n \zeta)}{R_1(w_n + z_n + \rho_n \zeta)} \rightarrow g'(\zeta)$$

locally and uniformly in \mathbb{C} .

Suppose that there exists a point ζ_0 such that $g(\zeta_0) = 0$. Then by Hurwitz's Theorem, there exists ζ_n , $\zeta_n \rightarrow \zeta_0$ as $n \rightarrow \infty$, such that (for n sufficiently large)

$$g_n(\zeta_n) = \rho_n^{-1} (F_n(z_n + \rho_n \zeta_n)) = 0.$$

Thus $F_n(z_n + \rho_n \zeta_n) = 0$ and $f(w_n + z_n + \rho_n \zeta_n) = R_1(w_n + z_n + \rho_n \zeta_n)$, by the assumption we have

$$\frac{f'(w_n + z_n + \rho_n \zeta_n)}{R_1'(w_n + z_n + \rho_n \zeta_n)} = 1.$$

Then, by (3.5) we derive that

$$g'(\zeta_0) = \lim_{n \rightarrow \infty} \frac{f'(w_n + z_n + \rho_n \zeta_n)}{R_1'(w_n + z_n + \rho_n \zeta_n)} = 1.$$

Thus $g(\zeta) = 0 \Rightarrow g'(\zeta) = 1$. Then our claim holds.

Since $\deg(P_1) = \deg(P_2)$, we assume $P_1 = a_1 z^n + a_{1,n-1} z^{n-1} + \cdots + a_{1,0}$ and $P_2 = a_2 z^n + a_{2,n-1} z^{n-1} + \cdots + a_{2,0}$. In the following, we will prove $g'(\zeta) \neq \frac{a_2}{a_1}$ on \mathbb{C} .

Suppose that there exists a point ζ_0 such that $g'(\zeta_0) = \frac{a_2}{a_1}$. If $g'(\zeta) \equiv \frac{a_2}{a_1}$, then $g(\zeta) = \frac{a_2}{a_1}\zeta + c_0$, where c_0 is a constant, which together with the fact $g = 0 \rightarrow g' = 1$ gives $a_2 = a_1$. This contradicts to the assumption $\lim_{z \rightarrow \infty} \frac{R_2(z)}{R_1(z)} \neq 1$. Thus $g'(\zeta) \not\equiv \frac{a_2}{a_1}$.

Since $G_n(\zeta) - \frac{R_2(w_n + z_n + \rho_n \zeta)}{R_1(w_n + z_n + \rho_n \zeta)} \rightarrow g'(\zeta) - \frac{a_2}{a_1}$ as $n \rightarrow \infty$ and $g'(\zeta_0) = \frac{a_2}{a_1}$, by Hurwitz's theorem, there exists ζ_n , $\zeta_n \rightarrow \zeta_0$ as $n \rightarrow \infty$, such that (for n sufficiently large)

$$(3.6) \quad G_n(\zeta_n) - \frac{R_2(w_n + z_n + \rho_n \zeta_n)}{R_1(w_n + z_n + \rho_n \zeta_n)} = 0 \Rightarrow f'(w_n + z_n + \rho_n \zeta_n) = R_2(w_n + z_n + \rho_n \zeta_n).$$

Since $a_1 \neq a_2$ and $\rho_n \rightarrow 0$, noting $f' = R_2 \Rightarrow f = R_2$, from (3.4), (3.6) we get

$$g(\zeta_0) = \lim_{n \rightarrow \infty} g_n(\zeta_n) = \rho_n^{-1} \left(\frac{R_2(w_n + z_n + \rho_n \zeta_n)}{R_1(w_n + z_n + \rho_n \zeta_n)} - 1 \right) = \infty,$$

which contradicts to $g'(\zeta_0) = \frac{a_2}{a_1}$. This shows that $g'(\zeta) \neq \frac{a_2}{a_1}$ on \mathbb{C} .

Since g is of the order at most one, and so is g' , hence it follows that

$$(3.7) \quad g'(\zeta) = \frac{a_2}{a_1} + e^{c_1 + c_2 \zeta},$$

where c_1, c_2 are finite constants. We divide it into two subcases as follows.

Subcase 2.1. If $c_2 = 0$, from (3.7) we have

$$(3.8) \quad g(\zeta) = \left(\frac{a_2}{a_1} + e^{c_1} \right) \zeta + c_0,$$

where c_0 is a constant. Since $g = 0 \rightarrow g' = 1$, from (3.8) we have $\frac{a_2}{a_1} + e^{c_1} = 1$. By a simple calculation we get $g^\#(0) \leq \frac{1}{1+|c_0|^2} < 3$, which is a contradiction.

Subcase 2.2. If $c_2 \neq 0$, by (3.7) we obtain

$$(3.9) \quad g(\zeta) = \frac{a_2}{a_1} \zeta + \frac{1}{c_2} e^{c_1 + c_2 \zeta} + B,$$

where B is a constant. Obviously, $g(\zeta) = 0$ has infinitely many solutions. Suppose that there exists a point ζ_0 such that $g(\zeta_0) = 0$. Then by (3.7)(3.9) and $g = 0 \Rightarrow g' = 1$, we can get $\zeta_0 = \frac{a_2 - a_1 - c_2 B a_1}{c_2 a_2}$. This is also a contradiction. These contradictions show that Case 2 cannot occur and hence the proof of Theorem 1.2 is complete.

4. Proof of Theorem 1.1

By Theorem 1.2, we get f is of the order at most 1. Since $f = R_1 \Leftrightarrow f' = R_1$, we deduce that

$$(4.1) \quad e^\alpha = \frac{f' - R_1}{f - R_1}.$$

where α is an entire function. Noting $\sigma(f) \leq 1$, from (4.1), we have $\sigma(e^\alpha) \leq \sigma(f) \leq 1$. Therefore we can set $e^\alpha = C_1 e^{C_2 z}$, where C_1, C_2 are two constants. Let $F = f - R_1$ and $A = R_1 - R_1'$, we see that $A (\neq 0)$ is a rational function and

$$F' - A = C_1 e^{C_2 z} F.$$

By Lemma 2.4, we deduce $C_2 = 0$. Thus $e^\alpha = \lambda$, here λ is a constant. From (4.1), we have

$$(4.2) \quad f' = \lambda f + (1 - \lambda)R_1.$$

If $\lambda = 1$, we have that $f \equiv f'$, which is (i).

In the following, we assume that $\lambda \neq 1$. Since f is an entire function, R_1 is a rational function, from (4.2) it is easy to see that f and R_1 are two entire functions. So, R_1 is a polynomial. From the integral of (4.2), we have

$$(4.3) \quad f = C e^{\lambda z} + h(z),$$

where C is a non-zero constant and $h(z)$ is a polynomial. Thus, we have

$$(4.4) \quad f' = C \lambda e^{\lambda z} + h'(z).$$

Substituting (4.3) and (4.4) into (4.2), we deduce that

$$(4.5) \quad (\lambda - 1)R_1 - (\lambda h - h') \equiv 0.$$

Next, we will prove that $h'(z) \equiv R_2(z)$. Suppose that $h'(z) \not\equiv R_2(z)$, then

$$(4.6) \quad \overline{N} \left(r, \frac{1}{f' - R_2} \right) = \overline{N} \left(r, \frac{1}{C \lambda e^{\lambda z} + h'(z) - R_2} \right).$$

Since $f(z)$ is a transcendental entire function and $h'(z) - R_2(z)$ is a rational function, we deduce $T(r, h'(z) - R_2(z)) = S(r, f)$. Moreover, it is well known that 0 and ∞ are Picard values of $e^{\lambda z}$. Then by Lemma 2.6, we obtain

$$(4.7) \quad T(r, C \lambda e^{\lambda z}) \leq \overline{N} \left(r, \frac{1}{C \lambda e^{\lambda z} + h'(z) - R_2} \right) + S(r, f).$$

By the Nevanlinna First Fundamental Theorem, we immediately obtain

$$(4.8) \quad \overline{N} \left(r, \frac{1}{C \lambda e^{\lambda z} + h'(z) - R_2} \right) \leq T(r, C \lambda e^{\lambda z}) + S(r, f).$$

Combining with (4.7) and (4.8), we obtain

$$(4.9) \quad \overline{N} \left(r, \frac{1}{C \lambda e^{\lambda z} + h'(z) - R_2} \right) = T(r, C \lambda e^{\lambda z}) + S(r, f) \neq S(r, f).$$

Suppose that z_0 is a zero of $f' - R_2$, by the assumption we have $f(z_0) = R_2(z_0)$. By putting z_0 into (4.3) and (4.4) we have

$$(\lambda - 1)R_2(z_0) = \lambda h(z_0) - h'(z_0).$$

If $(\lambda - 1)R_2 - (\lambda h - h') \neq 0$, we have

$$\begin{aligned} \overline{N}\left(r, \frac{1}{f' - R_2}\right) &\leq \overline{N}\left(r, \frac{1}{(\lambda - 1)R_2 - (\lambda h - h')}\right) \\ &= O(\log r) = S(r, f), \end{aligned}$$

which contradicts with (4.9). Hence,

$$(\lambda - 1)R_2 - (\lambda h - h') \equiv 0.$$

Comparing it to (4.5), we have $R_1 = R_2$, which is a contradiction. Thus, we obtain $h'(z) = R_2(z)$. Then, from (4.4) and (4.5), we have

$$f' = C\lambda e^{\lambda z} + R_2(z),$$

and

$$(\lambda - 1)R_1' = \lambda R_2 - R_2',$$

which is (ii). Thus Theorem 1.1 is completely proved.

References

- [1] Chang, J. M., Zalcman, L., Meromorphic functions that share a set with their derivatives. *J. Math. Anal. Appl.* 338 (2008), 1020-1028.
- [2] Chen, Ang, Lü, Feng, Yi, Hongxun, Value sharing of meromorphic functions and their derivatives. *J. Math. Anal. Appl.* 359 (2009), 696-703.
- [3] H. H. Chen, Yosida function and Picard values of integral functions and their derivatives. *Bull. Austral. Math. Soc.* 54 (1996), 373-381.
- [4] H. H. Chen, Y. X. Gu, An improvement of Marty's criterion and its application, *Sci. China, Ser. A* (6)36 (1993), 674-681.
- [5] Clunie, J., Hayman, W. K., The spherical derivatives of integral and meromorphic functions. *Comm. Math. Helv.* 40 (1996), 117-148.
- [6] Grahl, J., Meng, C., Entire functions that sharing a polynomial with their derivatives and normal families. *Analysis* 28 (2008), 51-61.
- [7] Hayman, W. K., *Meromorphic Functions*. Oxford: Clarendon Press, 1964.
- [8] Li, S. X., Stević, S., Riemann-Stieltjes type integral operators on the unit ball in C^n . *Complex Variables Elliptic Equations* 52 (6) (2007), 495-517.
- [9] Li, J. T., Yi, H. X., Normal families and uniqueness of entire functions and their derivatives. *Arch. Math.* 87 (2006), 52-59.
- [10] Li, X. M., Yi, H. X., On uniqueness of an entire function and its derivative. *Arch. Math.* 89 (2007), 216-225.
- [11] Lü, F. Yi, H. X., On the uniqueness problems of meromorphic functions and their linear differential polynomials. *J. Math. Anal. Appl.* to appear.
- [12] Mues, E., Steinmetz, N., Meromorphe Funktionen, die mit ihrer Ableitung Werte teilen. *Manuscripta Math.* 29 (1979), 195-206.

- [13] Pang, X. C., Zalcman, L. Normal families and shared values. *Bull. London Math. Soc.* 32 (2000), 325-331.
- [14] Qi, J. M., Lü, F., Chen, A., Uniqueness of entire functions sharing polynomials with their derivatives. *Abstract and Applied Analysis*, in press.
- [15] Rubel, L. A., Yang, C. C., Values shared by an entire function and its derivative. *Complex Analysis, Lecture Notes in Math.* 599. pp. 101–103. Berlin: Springer-Verlag, 1976.
- [16] Schiff, J., *Normal families*. Berlin, 1993.
- [17] Stević, S. Boundedness and compactness of an integral operator on mixed norm spaces on the polydis. *Sibirsk. Mat. Zh.* 48 (3) (2007), 694-706.
- [18] Yang, L., *Value Distribution Theory*. Berlin: Springer-Verlag, 1993.
- [19] Yang, C. C., Yi, H. X., *Uniqueness Theory of Meromorphic Functions*. Beijing: Science Press, New York: Kluwer Academic Publishers, 2003.
- [20] Zalcman, L. A heuristic principle in complex function theory. *Amer. Math. Monthly* 82 (1975), 813-817.
- [21] Zalcman, L., Normal families: new perspectives. *Bull. Amer. Math. Soc.* 35 (1998), 215-230.

Received by the editors August 21, 2009